ﬂronr -Id"a'
ountin
hule::ne ask fg g:mils]

4295

4040
(seal kit
= 4255)

4076
(seal kit
= 4255)

4053
4075

9787

63x360

4055

(seal kit
= 4251)

4077

4052

4086

2317

Pneumatic Cylinder

LR cylinder, standards
TeaTy ‘ | D i) ‘ @ |lift |KTP-no.: ’rh.read-
piston rod
‘ 63 [280 |4445 |M20x15
Ew | 63 |300 |4447 |M20x15
— 63 [500 |4454 |M20x15
= 80 [130 [9258bK [M 20x 1,5
L%J 100 | 120 | 4192 M 27 x 2
% 100 | 125 [5460 |M 27 x2
seal kit
o (please ask for details) T E
_ﬂ joint with bolt
= ﬁ size  [thread  [bolt  [KTP-
v o, no.:
- ﬁ# 8x16 |M8 8 | 2460
Ly o 8x32 | M8 8 | 2295
g 10x20 [M10x1,25 | 10 | 231
10x20 |M10 10 | 3082
12x24 |M12 12 | 2045
14x28 |M14x1,5 14 |2203
14x28 |M14 14 |2233
L%J' 16x32 | M16x1,5 16 |2330
16x32 |M16 16 |2192
20x32 [M20x1,5 16 |4231
20x40 [M20x1,5 20 | 2470
23::0 M27 x2 20 | 4232
, 22 see page 29
-y 5
Ef% *Z‘F’; EW 0644
special cylinder 60* | bellows alternative cylinder**
lit | KTP- |thread- | KTP- no.: KTP- no.:
no.: | piston
= rod
g 60 |4028 (M 12 [4052 4028b
= 5 95 4031 [M12 |4052 4031b
&= 120 [4030 (M 12 |4052 4030b
% 160 [4032 (M 16 |4052 4032b
= 260 | 4085 |M 16 [4086 4085b
—— 8 * seal kit=4061 * seal kit=4061b

Kommunaltechnik Pierau GmbH
www.pierau.de

spare part phone + 49 (0) 5108/ 92 97-0
spare part fax

+ 49 (0) 5108/ 8579



Pneumatics

4067
:mmﬂggg _ 5239
9836¢
(LS
4219
4396 2
0,3-6 bar
4111
(=5/2)
4250
(=3/2)
04-10 bar
4455
(=5/2)
4455b
(=5/3)
5108 S~
comﬁj
5062
5202
9856
4468
LI
4359
=73 bar
9508
= 6-9 bar
P 4966
E_gc 4220
=)
4206 9461
4186
(1 ring fitting)
4246
(2 ring fittings)
4051 4247
M10x 1) (3 ring fittings)
(M12 x 1,5) 60 49
"9380 4321
(M22 x 1,5) (antifreeze)
4409 4410
(174 [air dryer]
9244
(178"
9250 4376
g 4307

Kommunaltechnik Pierau GmbH [22  spare part phone + 49 (0) 5108/92 97-0
www.pierau.de z‘ spare part fax  + 49 (0) 5108/8579




